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QUESTION BANK 365

(§5l151£9 WM ML %WQGD GUIE@ / Tami] & Egghsh Version)

sre serey : 230 wenfl GBI ] [ Qurss wHLGUEmsET : 70
¥ [Maximum Marks : 70
-‘v *‘ |

mmuﬁéﬂ () é{m@.rg}gd ,aﬂmﬁég@m sflumrss uﬁmrra?l 2 GTETGT 6T6HTLIS 6D e
sfurisgis Qsrerareyin. saLelledr GopUGIdd A@DS

sasreniLLmreri ik 2 Lanqurss QgMefsse,lb.
(2) ,@6‘)“3 ADDG SGBUY wwloar LLEGCD TWHUSHEGWD
éILq-GS@&lTLor@an;rj)@Lb LWeTU[H&S Ceuamd. LILBI&ET cuenTeUSD&

Gluedle LWeTU(h$SeLb.

Time Allowed : 2.30 Hours ]

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@l : Cazemeuwrar QL gdléd UL cuamrbg FLETUTHSEMET 6T(LPSa|LD.

Note : Draw diagrams and write equations wherever necessary.

L@d) - 1/PART -1
@Oy : () S|eWenSg NanTEEEhéHELD QS]GU)I_UJGTﬂéSSS@_ILb.A 15x1=15
Qasr@ésLul(Berar LT flenLsafler W&a D erHyenLw

(ii) . .
AevLows Corpesdsss GHSLOLe sloLloaun Corgg)
ET(LHSGYLD.

(i)  Answer all the questions. |
.\ Choose the most appropriate answer from the given four alternatives and

ii |
W write the option code and the corresponding answer.

Note :
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1L Gad swofioo deade: At gy, i@ wHreu Qugd CUr -

(1) K, <K () K,=1/K,

(@) Ky=K RT)™* (%) K, >K,

When .‘.\“g is negative in chemical €quilibrium reaction then :
(a) Kp<Kc (b) Kp=1/Kc

(€©) K,=K.[RT)™" (d) K,>K,

2. Qumwurerer sfw GeTokigGeT allfled SrLpH erMwd sniguieney g Qanafled
D|ene Q&reTL_eney.

(1) euraTLreumévan edlens (<) FEd salifamarTiiL S6menLD

(8) sslbeenTiiL Geenin (FF) wefll Geventliy SemenLd
Many of the organic compounds are inflammable because of its :

(@) Vander Waal's force (b) Co-ordinate nature

(c) Covalent nature (d) Ionic nature

3. Qemeumbd Cerorisaie ergeman “Blue John” eran enp&fGomn ?

(1) Cay(POy), (=) Cal (&) CaH, (7) CaF,

Which compound is named as “Blue John” among the following compounds ?

(@) Cay(PO,), () CaO () CaH, (d) CaF,

4. Gpm @ GTE&LITTe BTl L wéLn9erer upmieTer Fafiow :

(@) @israr  (ap)uesfar (@) owlirga (W) Gomgwp
The element with positive electron gain enthalpy is :
(a) Argon (b) Fluorine (c) Hydrogen (d) Sodium
B
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Haesde Hpwrews Carb s lﬂmmgm@;um Seperay :

(1) smbLiLen eflevarey () evi_mig; eflanemey
(@) Soer elenaray (FF) enpgge efleneral
Splitting of spectral lines in an electric field is called -

@ Compton effect (b) Stark effect

© Zeeman effect (d) Shielding effect

TEgman 58S eam L Femeir QurrEems® “100 -G S|6Tey” H@M LT e
Qurrsems(h eTen AmPESLLHE DS ?

(1) 15% (<) 50% (@) 20% (FF) 30%
What percentage of solution of H,0, is called as “100 -Volume” H,0,?

(@ 15% (b) 50% . © 20% d) 30%

Yeeu(meuareupmieT 7 enenTienL QETATIGITS pPOEFD 6T ?

(1) CO, (=) H,0 (&) SO, () NO,
Which of the following Iﬁolecule does not contain 1 bond ?

(@) CO, (b) HO (€ SO, (d) NO,

Curert Qeuliu gnysSmailer SI e :
(=) JK-1mol~1 (<) K mol*? (@) kI mol~? (/) cm
The SI unit of Molar heat capacity is :

(@) JK~1mol~? (b) Kk mol*? (€ Kk mol™? (d) cm

[ HwLys / Turn over
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9.

10.

11.

QurmsH- .
Qe iom&SeT '
@G?mn('éll m (len )
Quse gGsreueT® (i
(iii)

(1
(2)
3)
(4) ;
(@) (1) - (@), @ - (i) @20 @) - )

GGermGyT Quender
Quogdedier &GermaI® (i)

) -
() (1) - (i), @) - @), @) =) @) - ()
@ -0 @ - @z6v) @ - (i)
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i

(%) (1)-(@v), @ - @) (3)j(ﬁ)' 4) - (i)

Match the following : =~
Compound

Chloro picrin
Methyl Isocyanide
Chloro benzene (iii)
Methylene chloride (iv)

-

1)
(i)

(2
3)
©)

Uses

Detection of primary amine
DDT

Paint remover

Soil sterilizer ., .

(1) - @), (2) - i), 3) - @), @ - )
(1) - (i), ) - @v), @) - @), @)- @)
-6 @- @ 6)-Gv) @- (i)

D)~ @), ) - @), ©)-() @) -

()
(b)
()
(d)

sepysedlen seap[h LTeU® A(PSS5MS () H(HLD smcﬁun(ﬂ :
(<) TRT=n (<,) V=mnRT (@) T=nRT °

Osmotic pressure () of a solution is given by the relation :
(@@ wRT=n (b) V=mnRT () w=nRT

auraflwed < uie) ewvukseid e uCursLLBD 2Sle deulin Lgrensefer
Lwerur® ereuedidlufan g liuemLule Si@LbgleTerg ?

(21) Gsdelaflen a9d) (<) 9Ggaraflen efd)

(8) ur@elen il () BupLafler ald)

Use of hot air balloon in meteorological observdtdry is an application of :

(a) Kelvin's Law (b) Brown’s Law
(c) Boyle's Law (d) Newton’s Law

(fF) wV=nRT

(d) wV=nRT

WWW.QB365.IN

Scanned by CamScanner



5

http:/iqb365.in/ https:/www.qb365.in/matlaEANS]
12 mmw’yﬂm pH mﬂ‘—"—l -
4.6
(&) 5€ () (®) 6.5 () 7.5
What is the pH of rain water ?
a,
(a) 56 (®) 46 (© 65 d) 7.5
13, Qe BeIETOIDDICT TN BTG #5aS51b, 6rif)cSagn (C,H,) smiLen 55655505

Wdrmgl ?
() Quen&en () F5Cgen (@) yruisen () FHSEN

Which of the following compound has same f Carb that of
percentage of Carbon as that o

ethylene (C;Hy) ? d

(a) benzene (b) ethane () propene (d) ethyne

18. cao+3C 2K, A +cO

A-@W SaTLHlWa|D.
(1) CaC, (<) CO, (@) Ca () Cay0

Find A in the following equation.

CaO +3C 2BK , A +CO

(@) CaC, () CO, () Ca d Ca0

15. Qeneu(HouaTEUDMIGT o | aflensalin@ 2L UL Gsiod T8 ?

+
(1) C;H:NH, (<) C¢HsNHs (@) CetlsOH () CeHsCl
Which of the following species does not exert a resonance effect ?

+
() CeHsNH, b) CeHsNHy () CgHsOH (d) CgHsCl

[ HmLiys / Turn over
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16.

17.

18.

19.

20.

21.

22,

UGS - 1 /PART - 1t

ol A anrsEHEHE QS]G&LHJGTﬂé;&;Q_JLb: edarr arem 24 -8@

oCa@I> & of&66L0. 6x2=12

SEvoTILILINS afNenL_w

Answer any six of the following questions. Question no, 24 is compulsory.

Queredl aNiTHDS ﬁ&@lwﬁﬁmm NS

State and explain Pauli’s Exclusion Pl'inciple.

QevemtFpen - uTUEER]LD.

Define - Valency.

A6 LI QUTLESET CTamLIa WTena ?

What are ideal gases ?

Qauiu @Qussellwelien epanrd ellgamw snmis.
State the third law of Thermodynamics.

Qepanriiy Berid erenprad ereman ? rEF@HL HILUKISmeTL LW (&S
Gevenriiy BersHenand sarTLHliemd ?

What is called Bond Length ? Name the techniques through which the length of a
bond can be determined.

orélgar wepule sfing Cerbhiseate) srerULBL MBLTmmer sarLdleudle
BerL_Qumib Ceudl elevanseaner aflaréEs.

Describe the reaction involved in the detection of Nitrogen in an organic compound by
Lassaigne Method.

ffgermi(p) syenfle el o) 155 2 0CEe ereueumrm swmflliumi ?

How is Alkane prepared from Grignard reagent ?
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23.

24.

25.

26.

27.

28.

29.

30.

31.
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e DY - UM LINISEFH6LD.

Define - Acid rain.

1472 (NS)

. T, e TRgeafle) o g .
,me;u@ur@m 7 2_6irer OB T manens LU LLETUED e

oyl ? _
Which is the suitable method for detection of Nitroge

UGS - Il /PART . 1y

n pregent in food and fertilizers ?

gCsa@d 3pD cflenmés @pé 5 QS]“)L—UJGTﬂé;g;me, Qerm erer 33 -&5&

sewmigLLnE el wallése .

6x3=18

Answer any six of the following questions. Question no. 33 is compulsory.

H,S0,-én sran Hloopow sansd@s.
Calculate the equivalent mass of H,SO n

memaﬁ]l'_L Qg,rrl_r'n_cﬂemm eleuflgseyi.
Explain diagonal relationship.

g Al guid ereueurg swrfE&siuhdng ?

How is Tritium prepared ?

& - Frledlui $HFI6UD - EUENTILIMISESHELD.
Define - Le-Chatelier principle.

“pGsT_refld FarFosar’ b QEm USEMS IDTLNIESE|D.

State the term “Isotonic solution”.

CH, wpmib CO, 55 aUlg LSS QupmETETET gen ? edensgs.

Both C,H, and CO, have the same structure. Explain why.

dodlubsaiian rei QsmEUy (popaw TR
Write note on Williamson'’s Synthesis.

WWW.QB365.IN
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32.

33.

seRTeRTTOY 21955
NeTESS.
Explain why Ca(OH);

https://www.qb365.in/materials/

Sé g Ca(On, Vwetu@ssliuGHDSY cremuBe e

is used In White wagpp;

Geraumb CaiomsErE@ O+ ML Qsamar arpgs.
(@) m - ml_wpt_(‘érylr@udfgéh

® p- mL_@CBmmerGludfgdn

© 13,5 Ley-Bsmsd Buensen

Give the structural formula for the following compounds.
(@) m - dinitrobenzene

(b) p - dichlorobenzene

(©) 1, 3,5, Tri-methyl Benzene

&S - IV /PART - IV

Simenss HamssErEEL eflenL welssa. ' 5x5=25

Answer all the questions.

(1) @ H0,-6 ysfigafian o sgGadp eram wrgl cran sansdHs.

(i) g-Y9yrEefl FwETLIT ML 6T(HSHIE.

(=) () wruferf

LT
@ (peno efflenw ellaT&Es.

() Qemaumd marenw LisH CQFs.

Na,O, +
(@ (i) Calculate
(i) Write the

(b) (i) State and
(i) Complete
Na202+

2 - NaySO,+H0,
oxidation number of oxygen in H;O,.
de-Broglie equation.
OR
explain Dobereiner’s “Triad” .
the following equation

? - NaZSO‘; + HZOZ
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= : - b Begy g
BE@Bs ey Snrdlng, Ei:"' ;"mumy @)erEnen. BHETTED DD
(i) LTS Sflenw supys
élsbmﬂ

i) 0°C Geuliu : : . _ ‘

(<) @) g W@Iasmel.)ufﬂ.eu 1 @LDITGI‘) Uaflés 1y, frs e HED Curs ‘@&@L{)
. ’ !—Dﬁﬂ)mgmg, SEES ()5, et a1 _ig uql 6ot Goreri 2(HEGHSD
Qeuliu LDQLJL[ 6008 ] mol-1 |
CaO CO
. - [ (5)] 2(g) _ _ .

(i) Ke= [CaC([)S(s)] ] eTam Fblene Lomudl et wdHlienL Q& mesTL
gwiblene elenendaa, FLoa Q&u]muuﬁl_ GeudgwemumeL HHS.
(@) () Among the alkaline earth metals BeO is insoluble in water but other oxides

~ are soluble. Why ? |

(id) ‘State Diffusion Law.

OR
i i le of ice into
‘ hange during the melting of_one mo
® O Cal:‘ l;l:teofge %I;?S};; of fﬁSion of ice is 6008 ] mol 1.
wate : .
th K _{Cao(s)][COZ(g)i\
i tion for the Kc= .

(i) ~Write the Balanced chemical ?qua | . [CaCO3(S)]

[ Q@Quaa / Turn OV¢
B
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3. (@)@ NHywHDO HCl Séluaa, Qanen) efHss o1 LBauHoo® gar ?
@) Spssan BN gaitisga ooy
(A) NH, (B)  BF,
éld)mgj

(@) () &pssaradB® fov Loy g yrary wpHusos saTH.

H\C_C _H
(A) AN
H,C CH,
H CH,
(B) >C=C<
H,C H

@ GCpi SCer Coflé cleerefenar crRggsaT_[HL6n eNeTsHEs.
(@) (@) NH;and HCl do not obey Henry’s law. Why ?
(i) Write the structure of the following compounds.
(A) NHg (B) BE,
OR

(b) (i) Identify the cis and trans isomers for the following compounds.

H H
~N e
(A) Se=c{
H,C _ CH,
H\c—c e
(B) s
né  OH

(i)  Explain with example the Positive Mesomeric Effect.
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7. (&) i) SREBET_aup i IUPAC q,
: Wira; 5.
CH, - ?H_CHrCHS et 6T (PG
CH,

https://www.qb365.in/m

L AAT214NS)

(A)

CH,
|
B) HC-C-CH,
CH,
EMESUT Qurmer wHmy b TS ey Hal @UTHET TEpTd
CTGUGH ? 2 GTTERILD &(Ths.
360608
(o) () Qer@ésiul Gerer eeaniuf Qurmeerds Q&TETH Speud
CauglelLmmenm s eraaumy wmppemis ?
(A) A gedlen — Guenfen
(B) Sewrmé >  Quen&en
i) gCpaibd G deuaiGain QautiLflaeseiié sfisray xﬁlsmgra; a‘srr(\;_l;
Qg 55Q6E 2L UBSSID Gurg SepL_&sL1@UDILD @m QeuaGein
QuIT(HL&EET 6T(P&I5- | )
(a) () Write the ITUPAC name for the following compound.

CH, — CH—CH,~ CHs
]

(A) I
CH,4
|
c-C-CHs
®
o lectrophiles ? Give one example each.
v What are Nucleophiles and Electrop
; a o i i tants ?
1 you get the following, products with the given reac .
i How will'y
() Phenol ?Tfene o
© Benzene ° nts you get during fractional distillation

. ite any tW
@) N eal Tar at any t¥°

[ é\@l—“—"& / Turn over
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38, (o) () ereflw 6NES UTUUTE oy, ¢ 1 O -efien el iapssD 47
crafléd, SN POEIY Qumisiim i emenr sreims.

(i) ereflu &GWGLD.LK“& Mo Garwin (A) yGrmdlen L6 aSeperflps)
(B) -eow Qsre&SDg). _(A) 7Ganr Ni 2 e eflevan Lfipg (C) -@W
Qar@éfng!. (A) (B) wpmib (C) S Sweunenn SIS,
3|66V g
(@) @) Cy+Oag) = Do) Belivamen Hir eraim Grma wrHPSDS

semsl 5. COygy Cg) Oy @ Sweundlen £l eranGrma & LIL|&eT
wpennGui 213.6, 5740 wHMILDL 205 JK-1.

(1) ‘§E'9355‘WLGUID@G.D.(A) LOID (B) -ulerens Sar_Ms.

+.
R-C=N—ROH, (4) HO/H'

> (B)

(@) () A Compound having the empirical formula CcHgO has the vapour density
47. Find its Molecular formula.

(i) The Simple Aromatic Hydrocarbon compound (A) reacts with Bromine to
give (B). Compound (A) reacts with Raney Ni and gives (C). Identify (A),
(B) and (C).

| ~ OR
() (1) Cp+Oy = COxy

Calculate the standard entropy change for the above reaction, given the
standard entropies of COz(g), Cloy Oz(g) are 213.6, 5.740 and 205 JK !
respectively.

(ii) Identify the compound (A) and (B).

R-C=N —RO/H () HO/M , g

-000-

QBBlog
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